5.128

Two water jets collide and form one homogeneous jet
as shown in Fig. P5.134 (a) Determine the speed, V, and di-
rection, ¢, of the combined jet. (b} Determine the loss for a
fluid particle flowing from (1) to (3), from (2) 10 {3). Gravity is
negligible. .

~ m FIGURE P5.J3#
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5.128

(con't )

To dedermine the loss of dvailable energy associabed with the
flow 'fh\’buo)h this covrtvol vlume we dbtziin by ﬂ\{)p\yt'\-\cj 4the.
enevoy eﬂﬁua'hén ( Ea!7 L 5.64)

v v\, vooVay v oL Vo \

(4, + ,_Q.-L)ml—(ml+ "i!-_)ml+ (L\.ﬁ- _;_)M?’: o (4)
Also, T conservation of mass e%m%im) E@.B, tan also be
wYren as

~WA ~da, i, = O | (5)
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